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Part A :General Intelligence & Reasoning
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Question Nos.1 to 3
YT HEIT1 & 3TF

Directions / &% Find the odd number/ letters/ wora
from the given alternatives.
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1)
A)HIVW B)FGKL
C) ACDF D) TUOP
*,
2)
A)Cricket B) Chess
o QTS
C) Football D) Hockey
\J g\fﬂ
3)
A)23 5 B)17 %
C)13 ™ _D)63 >

4) Some equations are solved on the basis of certain
system. Find out the correct answer for the unsolved

equation on that basis.
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= cut a
the question figures. From the give: :::Wn beloy in
wer fi

indicate how it will appear when opened,  Dures,
FICa TUT Eele & a5 a8 Rh| 3eqy mhm
s 2m? :

Question Figure / ¥ 3Tgfer
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If' LONDON' is coded as MPOEPO. What code is
needed for 'DELHI' ?
7fz 'LONDON' &I HI5 MPOEPO AfR@ramargar

'DELHI I 38 @15 # forgr smeam?
A)DEHLI B) HLDEI
C) EFIMJ D)EFMIJ

The total age of a mother and her daughter is 60 years.
The difference between their ages is 30 years. Find out
the age of mother.
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173 12 x 9 =810 and/3X 15 x 9 =513 &rer 7 37T 30 a¥ &) AT Ay 3G AT FEY
then/ A 13x8 =7 A) 40 years B) 55 years
A)104 B)410 40 Y 559§
C)411 D) 401 945 years D) 50 years
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Question Nos.8 to 9 10) One or two statements are given followed by two
¥eT TEAT8 79 T Conclusions/Assumptions, I and 1I . You have to

o ) consider the statement to be true, even if it seems to be
Directions / IR&¥: A series is given with one term

at variance from commonly known facts. You are to
missing. Out of the four alternatives, choose the decide which of the given conclusions/assumptions can
alternative that will complete the series. definitely be drawn from the given statement. Indicate

WWW#WWWW#[E{TW your answer.

Statement:
ar RFcql # & a ey glav st Jgea & @ 1. All Players are Singers.
= II. All Dancers are Singers.

Conclusion:
8 LT 1, 17,25, 2 I. Some Singers are Dancers.
) RLLILB.L II. Some Dancers are Players.
A)35 B)32
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A)IGU B)IGX

A) Only conclusion II “BJ,Bmh conclusions 1 &
follows. II follow.
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C) Only conclusion 1 D) Neither conclusion I
follows. nor II follows.
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